·

Color Scanner

Form factor: Desk
Function: Scanning

Scanning Speed: 40 ppm

Document Size- Multiple Papers -Width 51mm to 215.9mm **Document Size- Multiple Papers -length** 51mm to 355.6mm

Document Size- Single Papers -length 51mm to 215.9mm **Document Size- Single Papers -Width** 51mm to 355.6.mm

Scanning

Resolution (optical & interpolated): 600 x 600 dpi & 1,200 x 1,200 dpi

Supported Systems: Windows 7, 8, 8.1, 10

Duplex Scanning: yes **Color Scanning:** yes

Color-Depth -Input: 30-bit color processing

Black & white Scanning: yes







נגפל הצבותים - עבומי היים נגפל הצבותים - עבומי היים

سَوْرُوْدِرَا دُرْدِرَا دُرْدِرْدُ - سَدُوْدَا مُرْدِرِدُ مُرْدِدُ مُرْدِدُ مُرْدِدُ مُرْدِدُ مُرْدِدُ مُرْدِد سُرِحْدِدُو دُرِدُ مُرْدِ مُنْ مُرْدِدُ مُنْ مُرْدِدُ مُنْ مُرْدِدُ مُنْ مُرْدِدُ مُنْ مُرْدِدُ مُنْ مُرْدِدُ ف

Desktop Computer specification

Processor	6 th Generation Intel Core i7 Series Equivalent or higher; 3.0 GHz or
	higher
Memory	8GB DDR4 equivalent or higher
Hard Disk	1TB HDD (7200RPM) or higher
Optical Drive	16X DVD+/-RW Drive
Graphics	Intel integrated graphics equivalent or higher
Keyboard	Wireless Keyboard (Logitech)
Mouse	Wireless Mouse (Logitech)
Network Interface	10/100/1000 Gigabit Ethernet
Ports	2 external USB 3.0 ports (2 front), 4 external USB 2.0 ports (4 rear)
Monitor Size	22" or higher
Warranty (service and	Minimum 1 year Parts, Minimum 1 year service
parts)	The service









Wall Mount Rack

Size: 4U 19"

Dimensions: 600* 500 mm (approximately)

Cooling Fans: Yes

Features:

Good ventilation and heat dispersing

Door with lock and key

- Provisions to mount the cooling fans

Powder coated to protect against rust.

- Maximum load upto 50Kg



Monitor

LCD	
24" Ultrawide	
2560 x 1080	
HDMI / VGA	
HDMI/VGA & Power	
	24" Ultrawide 2560 x 1080 HDMI / VGA



Cable Tester

Cable Types: RJ45 (8 Pin) & RJ11/12 (6 pin)

Cable Length Measurement: up to 1200M (±2% accuracy)

Wire Tracing: yes Cable Mapping:

• Display result of Pin to Pin cable mapping

• Display cable status, shorts opens & crossover

Min Distance for Test: 2M

Warranty: 1 Year



UPS SPECIFICATION (For PC)

2200 VA / 1980 W
INPUT:
220/230/240VAC
80~145VAC or 154~280VAC standard (Optional 140-295VAC wide range version for 220/230/240VAC models)
50Hz or 60Hz (auto sensing)
OUTPUT:
220/230/240 V AC
50Hz or 60Hz
BATTERY
Up to 7 minutes or higher
Up to 20 minutes or higher
PROTECTION
AC Surge Protection
Minimum 1 year Parts, Minimum 1 year service



Wifi Router

.

Speed	750 – 1266 MBps (2.4G + 5G)	
WAN	1 (10/100/1000)	
LAN	4 (10/100/1000)	
Static IP	Yes	
Dynamic IP (DHCP)	Yes	
WPS	Yes (PIN/Button)	
WPA-PSK	Yes	
WPA2-PSK	Yes	
Antenna	Minimum 2	



Duplex Printer

Form factor: Desk

Function: Printing, Copying & Scanning

Print Type: Lazer

Print Speed: 30 ppm (A4)

Paper capacity: 150 to 250 sheets, 80 to 200 gsm

Paper Weight and Media: 70 to 150 gsm paper, Envelope (4X9)

Paper Size: A4

Connectivity: RJ-45 Ethernet (10/100/1000 Base-T) & USB 2.0 (High-speed)

PRINT

Resolution: $600 \times 600 \text{ dpi } \& 1,200 \times 1,200 \text{ dpi}$ Supported Systems: Windows 7, 8, 8.1, 10

Printing: Single & Duplex printing

COPY

FCOT(From Ready mode and standard tray): Less than 11 secs FCOT(From Sleep mode and standard tray): Less than 28 secs

SCANNER

Mono/Color: Color Graycale: 256 levels

Power: 220 240 V AC

Power cord: Line Cord – UK (for PC and Display)



Black & White Printer

Form factor: Desk
Function: Print

Print Type: Laser Back & White Print Speed: 30 ppm (A4)

Paper capacity: 150 to 250 sheets, 80 to 200 gsm

Paper Weight and Media: 70 to 150 gsm paper, Envelope (4X9)

Paper Size: A5, A4

Connectivity: RJ-45 Ethernet (10/100/1000 Base-T) & USB 2.0 (High-speed)

PRINT

Resolution: $600 \times 600 \text{ dpi } \& 1,200 \times 1,200 \text{ dpi}$ Supported Systems: Windows 7, 8, 8.1, 10

Printing: Single & Duplex printing

Power: 220 240 V AC

Power cord: Line Cord – UK (for PC and Display)



